L-TAM Module 1 Section 3 Exercises
ILT - Illustrative Life Table (the one provided on the exam)

. Using the ILT, determine each of the following:

(@) 20P2s
(b) 12933
©) 21927
(d) 4|3938

. Givenl, = 500(100 — x) where 0 < x < 100, determine

(a) %zpso
(b) &
(c) ey
(d) e4

. Given I, = 500(100 — x)? where 0 < x < 100, determine

(@) sob2s
(b) p47(18)

(c) 855

. Suppose L, = 500(100 — x?) where 0 < x < 10, determine

(@) .ps
(b) e,

. Given a uniform distribution of deaths and ;,d, = 500, determine

(@) 10dx+s
(b) 3dy

. Given a uniform distribution of deaths with g, = .02, determine

(@) 109x
(b) spx
(c) 51109x
(d) 109x+s



7. Given a uniform distribution of deaths, [, = 4000, and ;,ds(,5 = 500, determine

(a) the terminal age, w, for this cohort of 20-year olds
(b) 35P40

8. Given a collection of newborns with terminal age 100, deaths are uniformly
distributed, but with different death rates over the age ranges (0,25), (25,75), and
(75,100). If there are 1000 newborns, with 500 surviving to become 25 year olds
and 400 surviving to become 75 year olds, (i.e. [, = 1000, l,5 = 500, and [,5 = 400)
determine

(@) ls
(b) I35
(€) 20P1s

9. Given mortality for (30) is DML(90), determine

(a) E[T50], the expected value of T;,
(b) Var(Tsp), the variance of T

10. Given mortality for (x) is CF(.025), determine

(a) E[T,], the expected value of T},
(b) Var(T,), the variance of T,

11. Suppose [, = 500e7%2* , determine

(@) Py
(b) ey
(©) ey

12. Suppose [, = 500(0.95)*, determine
(@) P«

(b) ey
(©) ey

13.Given g, = 0.1(0.9)%, for k = 0,1,2, -, determine

(@) Px» 2Px 3Dx and generally ;p,
(b) ey



